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&S X 4 Er%r'n‘c; ‘Fﬁb\(‘z)@ﬁﬁ%’é jj(gilzcn:é)é Z 4 'Fﬁﬁﬁg\ézg;kzlz _('%r_n_c)k jj(lfifn:é)é Z 4 ﬁf J:ﬁﬁb\(‘:)o)tt'.%' jj(lfifn:é)é X 4 J:ﬁn“ﬁ;b\(i)o)tt‘.%' ‘(.%.r'g jj(&itr:f)é
7 100kN/mM%E#BZ5 | 1.00 | 000 ~ 374 160.75 |3m%E#BZ 5| 000 ~ 1.46) 3.73 19.99 | 100kN/mi%z#82% | 1.00 | 1057 ~ 4162 160.75 |3mEiBz 3| 25.00 ~ 4162| 3.73 19.99
s 1.00 | 374 ~ 1153 100.00 | #nSY | 1.46 ~ 1153 3.00 16.05 st 1.00 | 6.00 ~ 1057 100.00 | =nst | 6.00 ~ 2500 3.00 16.056
2 100kN/m##BZ5 | 1.00 | 000 ~ 371 160.24 |3m%E#BZB| 000 ~ 142|371 19.85 | 100kN/mi%#825 | 1.00 | 1055 ~ 41.83| 160.24 |3m&E#BZ5B| 25,00 ~ 41.83| 3.71 19.85
s 1.00 | 371 ~ 1150 100.00 | #nSt | 1.42 ~ 1150 3.00 16.05 st 1.00 | 6.00 ~ 1055 100.00 | =nst | 6.00 ~ 2500 3.00 16.056
3 100kN/m%E#BZ5 | 1.00| 000 ~ 263 14136 |3mEEZD ~ -] 100kN/ %825 | 1.00 | 11.32 ~ 3577 14136 |3m%Ei#Bz% ~
s 1.00 | 263 ~ 1041 100.00 | =St | 0.00 ~ 1041 2.91 15.56 st 1.00 | 6.00 ~ 1132 100.00 | =nst | 6.00 ~ 3577| 2.91 15.56
4 100kN/m%E#BZ5| 1.00| 000 ~ 056 10835 |3mEEZD ~ -] 100kN/mZ#8z5 | 1.00 | 1081 ~ 1238| 10835 |3mZ#Bz25 ~
s 1.00 | 0.66 ~ 835 100.00 | =St | 0.00 ~ 835 | 2.31 12.36 st 1.00 | 6.00 ~ 1081 100.00 | =nst | 6.00 ~ 1238| 2.81 12.56
5 100kN/ M=% | 1.00|0.00 ~ 0.70 110.42 |3mZEiBAD ~ -] 100kN/ %825 | 1.00 | 11.20 ~ 1326 110.42 |3m%E#BZ% ~
s 1.00 | 0.70 ~ 848 100.00 | #nlst | 0.00 ~ 848 | 2.38 1273 st 1.00 | 6.00 ~ 1120 100.00 | =nst | 6.00 ~ 1326| 2.38 12.78
P 100kN/m%EBZ5 | 1.00| 000 ~ 003 10040 |3mEEZS ~ -] 100kN/ %8825 | 1.00 | 11.80 ~ 11.89| 100.40 |3m%E#BZ% ~
s 1.00 | 0.03 ~ 781 100.00 | #nlst | 0.00 ~ 781\ 1.98 10.58 st 1.00 | 6.00 ~ 1180 100.00 | =nst | 6.00 ~ 11.89| 1.98 10.58
- 100kN/mM#E#BZ5 | 1.00 | 000 ~ 0.34 104.95 |3m%E#BZ S ~ -] 100kN/ %825 | 1.00 | 11.19 ~ 1228 104.95 |3m%E#BzZ% ~
s 1.00 | 034 ~ 812 100.00 | #nst | 000 ~ 812\ 2.03 10.85 st 1.00 | 6.00 ~ 1119 100.00 | =nst | 6.00 ~ 1228)| 2.03 10.85
P 100kN/m#E#82% | 1.00 ) 0.00 ~ 0.01 100.14 |3mZEiBAD ~ -] 100kN/ %8825 | 1.00 | 1097 ~ 11.00| 100.14 |3m%E#BZ% ~
s 1.00 | 001 ~ 7.79 100.00 | #nlst | 000 ~ 7.79 | 2.05 10.99 st 1.00 | 6.00 ~ 1097 100.00 | =nst | 6.00 ~ 1100 2.05 10.99
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~

U3
H
M|



